£ 710 BURKESFEREERTIOTS A

£5 - R 840D
ERITE 850D
EE=aY OO 5D~9lF25%nD
HRIVREB (1)BIEDEE
(2) RMEF B VIR EIBIS
QEREDHINED
4) KEDU\=D XKEREBN
B £EREEEDL\SD
(O BEMZ
(MEFEE
(B)FEIR « 58:&ES
(FFBIDELY
1. =) IS 17N iR Ex 8
~PywITUBWNWEPY TPy T~
2. ] 3l = EERES « BRIRTE R
~ B B — D0 IC ~
3 N Hh T B OE EREEXN
~BESRIUITCTEEETED ~
4, AT —-—757YJlL — EREXN
~F ERD MIX UL —~
5. AN i Bk 6] EREXIN

~BRAEBEB LT Jumping~

6. 0 = =] B ~HOFHSTIIC! partl ~
1) 1—4 2 2—4 R 1—2 4 2—2
B 2—1 e 2—3

KBIRH > 116500 ~12640%



(DB

.

10.

11.

12.

13.

14.

F=T

EHEITE - UL — ESCEIE ]
~ED | BHDBEL B &~

HLOLTMWHY | BE-PTA

i Sl = R « STLREH
~ B EH®R — DO IC ~

ok
Ot

moos E EFPEXIN
~AERDBDOBEED DS ~

i 1= =] ¥, ~XHOFHSTTIC ! part2~
1) 1-—3 2 1—1 3 3—3 4 3—1
5 3—2 o) 3—4

4X100mYUVUL— EFEXTH
~HBER DN R YR~

4 X200muvUL - EFEXIN
~2NTYYATHENOER~

T N Y Y 3 ®@|on T R =%

156250~1 5B§4O§3‘
FSTVRE 1) RfEHRR
(2) BESMIRS
(S FPRERET
(ADFEFESRDHNESD
B B‘EBEF‘T*PJ
6)

O =

_UJ

=

UIIII



